
Clip to a Rectangle

A much simpler solution is to establish a clipping region.

\ b e g i n { t i k z p i c t u r e }
\draw [ h e l p l i n e s ] (−5,−5) g r i d ( 5 , 5 ) ;
\draw [ t h i c k ,<−>] (−5 ,0) −− ( 5 , 0 ) node [ r i g h t ] {$ x $} ;
\draw [ t h i c k ,<−>] (0 ,−5) −− ( 0 , 5 ) node [ above ] {$ y $} ;
\ b e g i n { scope }
\ c l i p (−5,−5) r e c t a n g l e ( 5 , 5 ) ;
\draw [ t h i c k , b l u e ] p l o t (\ x ,{\ x ∗(\ x +2)∗(\x−2)}) ;
\end{ scope }
\end{ t i k z p i c t u r e }

Compile workshop5.tex and note the difference.
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